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1 989H ABEINFR 0.06 - - -
2 988H BIREHFFER 0.07 - - -
3 9A6H - RENE/NFR 0.07 - 0.06 0.06
4 9A6H # /R 0.06 - 0.06 -
5 9F6H g FEhR 0.07 - - -
6 9H8H IR INERR 0.06 - 0.07 0.07
7 987H R 0.06 - - -
8 987H BUR/INVER 0.07 - 0.07 0.08
9 983H KIR/NER 0.07 - - -
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1 98 28H BEINFER 0.06 - - -
2 98 28H BIRE SR 0.07 - - -
3 9815H = RENE/NFER 0.07 - 0.07 0.06
4 9A15H # BINER 0.06 - 0.06 -
5 | 9m158 if:f HrEchag 0.06 - - -
6 98248 RN 0.06 - 0.07 0.07
7 9824H R 0.06 - - -
8 98248 BURE/INERR 0.07 - 0.07 0.07
9 9814H RIE/NER 0.08 - - -
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